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TABIE II (cont,)

a) AI = 0, 1, No (Allowed)
1 2 3 4 5
10 Ne 23 = 4ol 13-11 d5 /2-D2£ 49
11 Na 25 - 3.7 11-13 DB/Z'dS/Z 502
16s 35 - 0,17 19-17 d3 /2-6.;; 5.0
20 Ca 45 = 0,22 25-21 fry /2-f7 /2 506
21 Sc 43 + 1,13 21-23 f7/2-f:77; 4Lo8 +
21 Sc 47 - 0,61 21~25 £q/2~E /2 546 +
21 Sc 49 - 1.8 2127 f7/2-f.7/2 565
22 Ti 45 + 1.2 R3=21 f7/2—f.7/2 LT+
23 U A7 + 1.65 _R3=5 £y /oty /2 LT+
R4 Cr 49 + 1e45 25-23 £ /2-f7 /2 Le5+
25 Mn 51 + 2.0 25=27 F5/2'f7/2 5.1+
26 Fe 53 + 2.8 27-25 £ /2=F5 /> 5.0+
27 Co 61 - 1.3 27-33 £q/2-55 /2 5.2
30 Zn 63 + 2,36 3329 P3/27P3/2 5ed
30 Zn 69 - 1.0 39-31 Py/oP3/2 bob
30Zn 71 - 2.1 41-31 pl/?--pzlg o5+
31 Ga 73 - 1.4 31-41 P3/2P1/2 549
32 Ge 75 - 1.1 43-33 P1/2P3/2 5,0
32 Ge® 77 - 2.8 45=33 P /232 o8B+
33 A8 71 + 0.6 33-39 p3/2-pl/2 5.1
33 As 77 - 0.7 33-43 P3/0P1/2 567
34 Se 73 + 1429 39-33 Py1/27P3/2 563
34 Se 81 - 1.5 4T7=35 4 o8

P1/27P3/2





